Practice Worksheet 1.5A — Angle Bisectors @

Geometry Homework

For # 1-5, EF bisects ZDEG . (The diagram is not drawn to scale.)
®
1. If m£DEG =88’ , find m£LFEG = "'P"l

2. if m/FED =27 find msGED = DM

3. If mZDEF =3x+1 and m£ZDEG =5x+19 , find the value of x.
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4. If m£DEF =5x-3 and mZFEG =2x+15 , find the value of x.
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5. If m£LFEG =6x-7 and mZFED =2x+41 , find the mLDEG‘: (solve for x first!)
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Find w LDEG.
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For #6-9, BX is the BISECTOR of ZABC. (Diagrams are not drawn to scale)

6. If mLABX =5x and mZXBC =3x+10 Ifind the mAABC_\ (Solve for x first!)

ZARX 2zxge aef of 4 bisector.
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7. If mZABC =4x-12 and mZABX =24, find the value of x.
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8. If mZABC =4x+16 and mZCBX =3x+6, find the value of x.
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9. If m£ABC =5x+18 and mZCBX =2x+12, find the value of x, and the m£ABC .
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